POM 9 Chapter 4.1 Example 3 TI-Nspire Version
Method 2: Use Opposite Operations, Computer Algebra System (TI-Nspire CAS)

· Open a new calculator page.

· Type the equation 5x + 25 = 500 inside brackets.

Technology Note:

The brackets are needed for a Computer Algebra System to understand where the equation begins and ends.

· Subtract 25 outside the brackets.

Notice that the CAS subtracted 25 from both sides of the equation.

· Press the up cursor once.
· Press enter. Notice that the previous result has been copied to the next line.
· Use the cursor keys to return to the command line.

· Cursor to the beginning of the line, and press the ( key. Notice that the entire equation is inside the brackets.
· Divide by 5 outside the right bracket. 
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Technology Tip

When you use a Computer Algebra System (CAS) to solve an equation step-by-step, the equation should look simpler after each step. If it does not, check that you have performed the correct step. You may need to backtrack and correct your error. A CAS makes this easy. 
The solution is x = 95. 

Check if this solution is correct by substituting x = 95 into the equation. The CAS result will be either true or false. Type the following:

5x + 25 = 500|x = 95 enter
The true result verifies that x = 95 is a correct solution.

